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QUESTION 1

Which SQL statement is valid to monitor database server sessions?
A. EXECUTE FUNCTION task ("onstat","-g ses");

B. EXECUTE FUNCTION task ("view sessions","all");

C. EXECUTE FUNCTION task ("check sessions","all");

D. EXECUTE FUNCTION task ("check server","sessions");

Correct Answer: A

QUESTION 2

Which option maximizes performance in an Informix Warehouse (DSS) environment?
A. Higher value of LOGBUFF.

B. Higher value of PHYSBUFF.

C. Higher value of BUFFERPOOL and lower value of DS_TOTAL_MEMORY.

D. SHMTOTAL set to 0 to allow Informix to access all available physical memory.

Correct Answer: D

QUESTION 3

Given the following:

Table Schema
CREATE TABLE tab1
call INT,
col2 TEXT ) LOCK MOLCE PAGE;
CREATE UNIQUE INDEA zal1_id=<1 ON tak1i{col1);

SELECT Statement
SET ISOLATION TO DIR™Y READ:,
SELECT [+INDEX(tab1 tab1_icdx1)} coll FROM tabt;

How many locks will be used on tabl to run the query?
A.0
B.1

C.2

Latest A2090-619 Dumps | A2090-619 PDF Dumps | A2090-619 Practice Test

2/3


https://www.geekcert.com/a2090-619.html
https://www.geekcert.com/a2090-619.html
https://www.geekcert.com/a2090-619.html

VCE & PDF https://lwww.geekcert.com/a2090-619.html
2024 Latest geekcert A2090-619 PDF and VCE dumps Download

GeekCert.com

D. Depends on the number of index pages accessed

Correct Answer: A

QUESTION 4

Which statement is true regarding the selective row-level auditing feature in Informix?

A. You can create audit masks corresponding to row-level events of a specific table.

B. Selective row-level auditing must be explicitly turned on using the onshowaudit utility.

C. When you create a table, you can specify if row-level auditing should be enabled for the table.

D. When you create a database, you can specify if row-level auditing should be enabled for all the tables within the
database.

Correct Answer: C

QUESTION 5

Which SQL statement is used to remove detailed statistical information from the sysdistrib catalog table?
A. UPDATE STATISTICS DISTRIBUTIONS ONLY

B. UPDATE STATISTICS LOW DROP DISTRIBUTIONS

C. UPDATE STATISTICS LOW REMOVE DISTRIBUTIONS

D. UPDATE STATISTICS MEDIUM REMOVE DISTRIBUTIONS

Correct Answer: B
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